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HlAE

W test

import re

_ Iy 23 Console: connection closed (A4S

text = "2 Aol dod E shehu o

regex = re.compile(r'(?P<area>\d{3})-(?P<num>\d{3}-\d{4})")
matchobj regex.search(text)

areaCode = matchobj.group(“area")

num = matchobj.group("num")

print(areaCode, num)

2Eot N2 0| Test Cases 2F LX[SH=XA| ZIHE FA| & = AFLICL

HAE

hy
ol
1)
ik

AtS Bt
S 3 Z32t:0/100
490

[-]Test 1

Incorrect program output
- Input -

BOYAFE0] QLo 033-250-7161 2.2 H2HEAI7] HFEILICH

--- Program output ---

033 250-7141

--- Expected output (text)---

033 250-7161

[-]Summary of tests
+ —

[ 1 test run/ 0 tests passed |
o et

test.py

imp
text

regex = re.

matchobj = regex.search(te)
areaCode = matchobj.group (*ar
num = matchobj.group( R
print(areaCode, num)
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k=

DAY 2 Hg0jzt & 22U,
test.py

033-250-7161 2 2 A2 F Al 7| HRELCEH."
import re

regex = re.compile(r'(?P<area>" m>\d{3}-\d{4})")
text="2 9| At& O] AL T ( 22 e A7 Brg Yo

matchobj = regex.search(text)
areaCode = matchobj.group("area™)
num = matchobj.group("num")
print(areaCode, num)

regex = re.co
matchobj = reg
areaCode = matchobj.grou
num = matchobj.group(*num")
print(areaCode, num)

(?P<area>Wd{3})-(?P<num>wd{3}-wd{4})")
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